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888,421 454,520
= 104,773
= 96,030
Al 687,618
dAMHIA 2= 103,920 107,356
= 6,452
Al 97,468
A = 102,720 103, 156
2 6,452
Al 96,268
QIAEE Eot 28,000 20,500
201 ZEH2IH] 26,000 8,900
01 ARl 26,000 8,900
ONBUZT(AEET) ASEAIS
20,000,000& 13l 20,000
OXEBUE HAE 1,000,000& *13] 1,000
OQIRAIM ADB(X, ME, ZAX) P
250,000& x12& 3,000
68 R Y RATO| 7Y
2,000, 000& 2,000
2,000 2,000
LH 04 B 2,000 2,000
2 XEoil 1,000,002 1,000
sarsSeIst Ao 1,000,000 1,000
0 Yoz 68,268 82,656
22| 62,568 39,456
AtE 22|l 39,892 24,230
OF0SEE 23 442 26,892
- 2 HES 3, 130& +8,4000H 26,292
- 3= 50,000& =12 600
OFUsSE ¢ o2d=2X 24 2,000,000& 2,000
OSSET U 200ALT)| 428 7Y
5,000,000& 5,000
OFQSE YHF2l E2SHEY|
1,000, 000& 1,000
OgdazZR=s 2 250,000& 20 5,000
02 232944l 22,676 15,226
ORERs=s 5,000,000& 5,000
ALY WERSEE AR
4,000,000 4,000




SN IREAD
M A0S AHMEIA 2
o URAANEIA MAH 2F (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OsSgdE? KRAL=HI
81,0003 +3CH+ 12 2,916
OFUSES 28I |2
15,000 »9CH~12& 1,620
ORooadzll SAESH
76,743,590 *8% 6,140
OdLIIR X2 =4l 1,000,000& 1,000
O AHFE IS = AL 2,000,000 2,000
202 Oddl 1,200 1,200 0
01 SLHHYI 1,200 1,200 0
Ofeloiad gl 22l ol 1,200,000& 1,200
203 HEF=4H 4,500 2,000 2,500
03 AIMFAAR=EH| 4,500 2,000 2,500
OURASAID AZEF=XHRFXH|
4,500,000& 4,500
MR 6,452 0 6,452
= 6,452
201 BH2EH] 2,452 0 2,452
= 2,452
01 ArR2eltl 2,452 0 2,452
OWAZR=d 2,452,000 2,452
= 2,452
202 OdHl 4,000 0 4,000
= 4,000
01 LY 4,000 0 4,000
onage=d 4,000,000& 4,000
= 4,000
IIEZAH SER =22 1,200 4,200 23,000
IIEAAHSER Mz 2el 1,200 4,200 /3,000
202 O4dl 1,200 1,200 0
01 =LHNHI 1,200 1,200 0
OIIEHAHSEXNZ 22/¢Hh| 1,200,000& 1,200
AH Y 282H 728,701 274,124 454,577
= 98,321
L= 96,030
Al 534,350
EX 2 564,877 233,646 331,231
= 98,321
< 68,824
Al 397,732
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HESAXI 2L 38,541 36,961
101 1A 8,134 7,639
10 JIZHZ2Z2NSES 8,134 7,639

OMESAIXIItE AL 8,134
-Jles 33,4003 x 1 #1756 5,845
=54 33,4003 » 12 +35=F 1,169
==y 80,000 x1H +x8& 640
-S| 60,0003 x1H 82 480
201 LEHEREH| 28,907 27,822
01 AtR2telbl 24,907 24,822
OMEZSAXNINES=+=2 20,707
-MEXIES 6,228,000& 6,228
=2 gESuisMEXIIES
8,044,000 8,044
“OIANESL0IYMEFHS 6,435,000 6,435
ORSHEIA HH+E
70,0003 *42|x15H 4,200
02 3329l 4,000 3,000
OMNESAMAINZESN2LESRELS
4,000,000 4,000
202 Oddl 1,500 1,500
01 2UWAHI 1,500 1,500
OIME S AIXI It A HI 1,500,000& 1,500

SFSMAHHEAN EE 20,000 24,500
201 LEHRHH| 14,500 14,500
01 AtR2eltl 14,500 14,500

ONLRE S 2AMNLHI S LE
2,000,000 x5 10,000
ONLREESS2E LI E ==
600,000& *1521%0.5 4,500
202 Oddl 4,000 4,000
01 2O 4,000 4,000
OEXIHcHA IFAI= 0l S & B R A0 HI
2,000,000& 2,000
OSSALA eIt Al R A
2,000,000 2,000
301 etEd= 1,500 5,000
12 JIet2d=s 1,500 5,000
OEXNHAHA I DENZ 500,000& »3A 1,500

2 MF=L 29 178,601 172,185

101 1A 19,301 18,885




FA UAS AL
HE: X U 2E82Y9

chel: EXlZe (el =
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
10 JIZtH2=AHSE+ 19,301 18,885 416
OMFAALH =& Q1| 19,301
-JlE2s 33,4003 x5 90 15,030
=54 33,4003 x5H x13=F 2,171
- M S A 80,0003 x5 «3& 1,200
-wESE 2| 60,0003 x5 «3& 900
201 LEH23H] 118,100 108,600 9,500
01 ArR2cltl 118,100 108,600 9,500
OM=2 CHHE HMIZ 20,000& »2,000% 40,000
OM=2 E2=2 M 1,000& x16,000H 16,000
OM=2a g IDXNAM HE
1,500& *40, 000 Al CH 60,000
OM=A2&d3 4 70,0003 »22| x15H 2,100
202 OdHl 1,200 1,200 0
01 =UWobl 1,200 1,200 0
OEZ2EMFAALF=EO L 1,200,000& 1,200
207 SO 40,000 0 40,000
02 & AHHEH 40,000 0 40,000
OL=2Z DBREZAMIZ 40,000,000 40,000
MZ=AAEES EHIAS 327,735 0 327,735
= 98,321
= 68,824
Al 160,590
401 AU S04 327,735 0 327,735
= 98,321
= 68,824
Al 160,590
01 AI&HI 321,735 0 321,735
OM=2AIE2 FHIAMY 321,735,000 321,735
= 96,521
< 67,564
Al 157,650
03 AlZ=20i4I 6,000 0 6,000
OM=2AIE= UMY 6,000,000& 6,000
= 1,800
= 1,260
Al 2,940
AHESR Y RSASHH A 2 163,824 40,478 123,346
= 27,206




A YRS AL

HH: N Y 2SN
ol IRZR U 2SAEHAL 2 (el & 2)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
AHEE & BESUSHS L 22 Al 136,618
ANHESF2e] 22,593 22,139 454
101 el H] 7,533 7,639 A 106
10 JIZAH22NSES 7,533 7,639 A 106
OXNBHESEREX 7,533
=g 33,4003 x1H %160 5,344
-=5=E 33,4003 » 1 +32=F 1,069
- g A 80,000% x1H +82 640
-wWESE A 60,000 «1H +8& 480
201 BH2IH] 11,060 10,500 560
01 AtR2teld] 11,060 4,900 6,160
ONHEZ JIEH M& L Ty 44
100, 000& *50& 5,000
OXN&EQJA™el SMsX 2 1,000, 000& 1,000
OEXOls 2EAA 2MHIES
35,0003 x5& #24&L Xt 350
OXNHTALA0IZ BAEX 7
45,000 =64 Xt 270
OXNEHZSRZZAIAY A2F P2
200, 000& * 164 3,200
ONEEHEHESZH =A2c
11,200,000 *10% 1,120
OXNHHE A L0t E&2c| eIt
4,000 *304 120
202 Od4Hl 4,000 3,000 1,000
01 =3LHOYI 4,000 3,000 1,000
OXNE=E A A (4] 2,000,000& 2,000
OEXNEAHISIEEN 1,000,000& 1,000
OEXIOIsX &XIZA 04l 1,000,000& 1,000
S S A 22 5,200 4,700 500
201 ZEH2IH] 1,500 1,000 500
01 AtR2cltl 1,500 1,000 500
ORESMEN4+4E RSE ME
10,0003 »150& 1,500
202 O4Hl 1,200 1,200 0
01 =LHHHI 1,200 1,200 0
OFsMSHY ALK EHE0HI 1,200,000& 1,200
301 ptsazg 2,500 2,500 0
12 JIEt2 &3 2,500 2,500 0
ORSESNHELALNZASUHHAMDEZASZ
500, 000& *521 2,500




A YRS AL

HE: XH o PSNSY
S NHDE U SSASHAL 2 (el & 2)

K- E3 .S (3H) - MBAY - B gggf; HRS2
ARXNE J|IZ2 JAG 136,031 136,031
L= 27,206
Al 108,825
207 AP INEHI 136,031 136,031
& 27,206
Al 108,825
02 &APINEH] 136,031 136,031
OERXNEI=ES ML 136,031,000& 136,031
== 27,206
Al 108,825
HYSHHHI (IS AL 55,800 N17,240
OIS AHH| (R 2 A 4,200 0
SAOIAH (222 A 4,200 0
203 ERFXH| 4,200 0
04 BEANSIERFEH| 4,200 0
OBASILLRFEHI(30
350,000& x12& 4,200
|[2Zd| (22 A 51,600 N17,240
Jl2Zd(2IA= A 51,600 A17,240
201 B2 AH| 18,000 N21,200
01 AtR2t2ldl 18,000 N21,200
OFRAM2HE AtR 22l 18,000,000& 18,000
202 O4Hl 33,600 3,960
01 22Ul 33,600 3,960
OJI2gdR24+80dl(20H 33,600,000 33,600




